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LOGIC AND PHILOSOPHY
Full Marks : 100
Pass Marks : 30 .
Time : Three hours
The ﬁgures in the margin indicate full marks
for the questions.
Q. No. 1 carries 1 mark each T Ix12 = 12
Q. No. 2-13 carries 2 marks each : o2x12 = 24
Q. No. 14 - 23 carries 4 marks each. _  4x10= 40
Q. No. 24 - 27 carries 6 marks each . 6x4= 24
| - \ Total = 100
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1. Give very short answer : 1x12= | (¢) “The course of the world is not a uniformity, but uniformities”

<% 55 T a2 — Who said this ? : 1
“Troleq T (I Bl [N G w27, B q20e! NEs wifeT | — w2
(1) What is induction improperly so called ? | 9 (I (Pl 2

SAFRS e ql SIS IF @I 2

(b) Is the conclusion of scientific induction certain ? (0. Can thereibe moiSiiab e icauciottaptctiectis 1
e S Frare [ For 2o 2 | G5 TR GBreT A TR B A1l 2

(c) What is the basis of unscientific induction ?
SRS SMlaEE i 2 (g) What is working hypothesis ? 1

FEF]] oA FIT Q@A 2

(d) “Plants like men have birth, growth, decay and death. I\I
possess intelligence, therefore plants also possess intelligen'|

— What type of analogical argument is this ?

MRS w1 Sfencal o, I T T S0z | MPRF = Sy | .;[fi (h) Give one example of a secondary quality. 1
@@WﬁW”mmWWWWW | |
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) N the phil h ho sai ipi |
G) am.,e e philosopher who said that esse est percipi ? What is a good analogy ? . 3 2

“ererECs g R I (I T ? PP SN I QAT 2

. ) . -
() What is called a voluntary action ? Name the theory according to which Thought and Reality are at
| bottom ‘identical (Reality is rational). Who advocates the theory ?
Afoe T I [T 2
‘%mww@vfﬁmwﬁm”(ﬂ@ m)qﬁwwwm

Bt | G TR cvnawwrﬂ*ﬂﬁasm @

.(k) Give one example of a non-moral action.

Rifos == qﬁ@mﬁﬁml.

Define -inducﬁv‘e leap. S S | 5
¢

I Se T SHIGS AP0 F@ it

-

() From which Latin word the term “Religion” has been deriv

What is the meaning of the law of the conservation of matter and

energy ? 2

T Religion *mft & corfow WW TEd (2R? |
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Can an action of an insane person be called a moral action ? Give

Or / 7z
' one reason in support of your views. 1+1=2

[
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What is the intellectual condition of observation ?

AR Qe o8 & &l

. IS » ) . - £ . ’ ?
6. Why the conclusion of analogical argument is probable ? What Is the I.ne ting of “Intention” | 2

»

" ‘FITT‘U Wwﬁﬁmﬁwww9 “eifery o e

. What are the ultimate values of human life ? Name the ideal or the

State Mill’s canon of the Method of Agreement. value with which ethics is concerned. 1+1=2 |

S AR AIE SF R e SRR A v | m@gﬂmw@@ﬁﬁ?ﬁ?WaﬁWm@%ﬁww@vé

8. - Name the experimental‘.method‘v which determines the quantita Write fwo poinfs of similarity between Religion and Morality.

relation between, cause and effect. 1+1=2
Rl s e e <P SARIATS T RO T AT o] T (HOPOR S < 701 Y SeEd
s By | | . -
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15. State the principle of elimination on which the method of Difference
is based. ‘ ' : '. 4

2

is the. Method of Diff ce called a Method of Proof ? » 4
Mym e Method of Difference called a Method of Proo Rl AT RS Rl AR Bt { WI

JOEF! AT [T MR AN IFT R =2 -

Explain the fallacies of observation with examples.

13. What is formal cause according to Aristotle ?

T (AT TTE TR R I A1
) " "'.5’5"; 6. Expléin the different stages Of,hypomesis with examples. 4

B TS 4TE ReA X IR T A

| i
. Ly
goals of human life as recognised by Classical Indian Philosoph)

2
,o s I | "1 7. Mention fdur di§advanfages of the Method of Difference. 4.
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Or / iz L9. Which theory holds that the external world can be known directly
as it really is ? State fwo reasons as to why this theory cannot be

Why Mill has described the experimental methods as the ‘method: AeREREd: g 2+2=4

(I TGN ARG LI SR AOFFOIE (FH3NE (05 &l T 2 =y
G I[ECH! SIRACAI] FZF O GO PN Bra I |

of elimination” ?

AT TS ATS ATZS I [T SR AmfS” gfet =yt e

‘0. What is solipsism ? Name the theory with which solipsism is

18. “The ground of induction is the result of induction” — State fw associated. ' 2+2=4

“aissiE TofE SIS Ta” — fo 43 Ofe 57 aod s @i oF 7,
;i E1. State the names of different kinds of induction with chart.
2+2=4

FEe S 41 |

Or / =3 iR TS R deRE Sl SRS T R SrEs 341 |

Define scientific realism. State the exponent of scientific realism.

): 1 1 i} - - -

3l State four points of difference between scientific induction and
unscientific induction. 4
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23. Explain very brieﬂy four advantages of experiment

- 28T LOPH [12]

Or / 72 Or / 7z

Name the fallacy which sometimes vitiates the Method of Diff - What is Analogy ? How can the value of analogical argument be

when employed ‘as a method of observation. Give an examplf determined 7 ‘ ' ' 244=6

this context.
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Explain the principle of the Uniformity of Nature. Why it is called

observation. the formal ground of induction ? 4+2=6

IR TS AT 515 AR oS SR I 4w opfoq eret RIFTH! U1 1 1 @R RIS Ry srterweg sniviesrs R
4 | | . Or/ M=
. Define scientific induction with example. State why it is cal]

‘Scientific’. Briefly explain three fedtures of scientific induction. | ' . | | | o
' » What is observation ? Describe the characteristics of observation.

2+14
| 1+5=6
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56. What are the conditions of a legitimate hypo@esis ? Explain anyt 27. Explain briefly three advantages of the Method of Agreement. Why
of them. 2+4 is this method called the Method of Discovery ? 4+2=6

S| Plaied oMb RE BT VI T | G2 simfos o SnFerg ey
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Or / 7241
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Explain and illustrate the following types of hypotheses :
State Mill’s canon of the Method of Concomitant Variation. Explain

(@) Hypothesis Concerning Agent | the limitations of this method.
() Hypothesis Concerning Law and | 3z ARTS AT} =TS e 71 Seare 91 | @2 elelieTix SpjfRet 72 1
|

(c) Hypothesis Concerning Collocation.

242+

et W e

TAIRITR OoTo el 2i<esl 7R PI=IT SNRIBIEl ¢

() T A IR [z o5
() e [Rags a5

(o) ~HR=RT 7o s oo

28T LOPH [14] 28T LOPH [15]



